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Model Question Paper- I with effect from 2022

CBES SCRENE

. First Semester B.E Degree Examination

Mathematics-I for Computer Science Engineering Stream (BMATS101)

TIME: 03Hours Max.Marks:100

1. Note: Answer any FIVE full questions, choosing at least ONE question from each
MODULE

2. VTU Formula Hand Book is Permitted

3. M: Marks, L: Bloom's level, C: Course outcomes.

€.1 | 2| With usual notation prove that tan¢ =r 7 .
I

"1 | Find the anglebetweenthe curves » =alog8, r =

log#

Show that the radius of curvature at any point of the cycloid s e

x=a(0+sin0), y:a(l—cose) is 4a cos(g).

Show that the curves > Toidlse
r=a(1+sin 6) and r=a (1+sin 0)cut each other orthogonally. i B i

i
L)
wr

», | Find the pedal equation of the curve 2_a = (1 +Cos 9) : 8 | §.2 O
r
Using modern mathematical tool write a program/code to plot the curve | _ 3 g

r = 2|cos26)|. Sl SO

o~
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Expand log(sec x)byMaclaurin’sseries up to thetermcontaining % 6 112 | COl

D If u=e@*PY) f(ax — by), prove thatba+a%=2abu by using | 7 |L2 | O

concepts composite functions.

< | Find the extreme values of the function Sf(xy)= % +3J0/2 ‘3}’2 —3x* +4 e il e D1

&

OR

1

~ . XA BENT 1/
Q2.4 | a| Evaluate (i) }tl_% (a ;b )x. (1) }ci_rf(l) (EEE) % 7 LY Ol

X
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Model Question Paper- I with effect from 2022

b

(3(.x,y,z)

Ifx+y+z=u,y+z=uv, z=uvw find .
d(u,v,w)

Using modern mathematical tool write a program/code to ‘show that
Uxx + Uy, =0 givenu = 0*(x cos(y) =y sin (y)).

o,
"v

»

[ ]‘

ay . ¥y 2.,6
Solve; — 4+ == 2
dx + X i

2 2

< A p X
Find the orthogonal trajectories of —+ 24 ) {8

3 ;—2—; where A1s a
a D" +

parameter.

Solve xyp’ —(x2 +y2)y+xy =i{0:

)
-

Solve (x*+y* +x)dx+xpdy=0

When a switch is closed in a circuit containing a battery E, a resistance

| R and an inductance L, the current i build up at a rate given by

L% +Ri=E . Find i as a function of t. How long will it be, before the

current has reached one-half its final value, if E=6 volts, R=100 Ohms
and L=0.1 Henry?

Find the general solution of the equation (px—y)(py+x)=a’p by
reducing into Clairaut’s form by taking the substitution X = x>, ¥ = .

o'

(3]

(o)

Viodule — 4

Find the least positive values of x such that
(i) 71 = x(mod 8)(ii) 78 + x = 3 (mod 5)(iii) 89 = (x + 3)(mod4)

b

Find the remainder when (349 %74 x36) is divided by 3.

O3

i)

Solve:2x + 6y = 1(mod 7) and 4x + 2y = 2(mod 7).

O3

UR

Q.8

(i) Find the last digit of 7%°"* (ii) Find the last digit of 13"

6

1.2

CO3

b

Find the remainder when the number 2'* is divided by 13.

~3

L3

CO3

Find the remainder when 14!is divided by 17.

l-ll

CO3
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*Model Question Paper-I with effect from 2022-23 (CBCS Scheme)
USN

First/Second Semester B.E. Degree Examination

TIME: 03 Hours Max. Marks: 100
Note: 01. Answer any FIVE full questions, choosing at least ONE question from each MODULE.
02. Draw neat sketches where ever necessary.
03. Constants : Speed of Light ‘¢’ =3 x10" ms”, Boltzmann Constant k’ = 1.38 %1072 JK7,
Planck’s Constant ‘h’ = 6.625 x 10™ Js, Acceleration due to gravity ‘g’= 9.8 ms”,
Permittivity of free space ‘¢)'=8.854 x10 " Fom ',

*Bloom’s
Module -1 Taxonomy | Marks
: , 2k St Level
Q.01 | a | Define LASER and Discuss the interaction of radiation with matter. [.2 7
b | Define Acceptance angle and Numerical Aperture and hence derive an 1.2 8
expression for NA in terms of Rls core, cladding and surrounding.
¢ | A LASER source has a power output of 10* W. Calculate the number of
photons emitted per second given the wavelength of LASER 692.8 L3 5
nanometer.
OR
Q.02 | a | Illustrate the construction and working of Semiconductor LASER with a 12 9
neat sketch and energy level diagram also mention its applications. |
b | Discuss the types of optical fibers based on Modes of Propagation and :
g L2 6
RI profile.
¢ | Obtain the attenuation co-efficient of the given fiber of length 1500 m 13 =
given the input and output power 100 mW and 70 mW.
Module-2
Q.03 | a | Setup SchrOdinger time independent wave equation in one dimension. L2 8
b | State and Explain Heisenberg’s Uncertainty principle and Principle of 12 E
Complementarity.
¢ | An electron is kinetic energy 500 keV is in vacuum. Calculate the group
velocity and de Broglie wavelength assuming the mass of the moving L3 5
electron is equal to the rest mass of electron.
OR
Q.04 | a | Discuss the motion of a quantum particle in a one-dimensional infinite
potential well of width ‘@’ and also obtain the eigen functions and L2 10
energy eigen states.
b | Explain the physical significance of the Wave Function. L2 5
¢ | The speed of electron is measured to with in an uncertainty of 2 x 10*
ms in one dimension. What is the minimum width required by the L3 5
electron to be confined in an atom?
Module-3
Q.05 | a | Define a bit and gbit and explain the properties of qubit. L2
b | Discuss the CNOT gate and its operation on four different input states. L2
A Linear Operator "X’ operates such that X |0) = [1) and X [1) = |0). L3 8
Find the matrix representation of "X’.
OR
Q.06 [ a | State the Pauli matrices and apply Pauli matrices on the states |0) and | L2 8
1)
b | Elucidate the differences between classical and quantum computing. L2 6
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Table showing the Bloom’s Taxonomy Level, Course Outcome and Program
Outcome
Question| Bloom’s Taxonomy Course Program Outcome
Level attached Outcome
Q1 | (@ 2 S R T T
(b) L2 i L e~ W 1
(©) L3 ¥ sl 1,2
Q2 | (a) L2 1 1
(b) L2 o L 1,2
(©) L3 5T R
Q3 | (a) L2 2 1,2
(b) L2 2 1,2,12
A L3 2 12
Q4 | (3 L2 2 1,2
(®) L2 2 1,2,12
(©) L3 2 1,2
Q5 | (@ L2 2 1,2
(b) L2 2 1,2
© L3 2 1,2,12
Q6 | (@ L3 2 1,2,12
(b) L2 2 1,2
(© L2 2 1,2
Q7 | (@ L2 3 1,2
(®) L2 3 1,2
(© L3 3 1,2,12
Q8 |( L2 3 1.2
(b) L2 3 1,2
) L3 3 2
Q9 |[( L1 4 1,2
(®) L2 4 1,2,12
© L3 4 1,2,5
Q.10 | (a) s 4 1,2
(b) L2 4 1,2,12
() I3 4 1,2
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" Model Question Paper-II with effect from 2022-23 (CBCS Scheme)
USN

First/Second Semester B.E. Degree Examination

1 s

Apolied Phvsics for Computer Science Strea
TIME: 03 Hours | Max. Marks: 100
Note:  01. Answer any FIVE full questions, choosing at least ONE question from each MODULE.

02. Draw neat sketches where ever necessary.
03. Constants : Speed of Light ‘c’ =3 x10" ms”, Boltzmann Constant ‘k” = 1.38 %107 JK7,
Planck’s Constant ‘h’ = 6.625 x 10 Js, Acceleration due to gravity ‘g’= 9.8 ms™,

Permittivity of free space ‘g,’=8.854 x10 " F'm ",

AR AR RN AR 0N

*Bloom’s
Module -1 Taxonomy | Marks
Level
Q.01 | a | Obtain the expression for Energy Density using Einstein’s A and B 12 8
coefficients and thus conclude on B,,=B,;.
b | Describe attenuation and explain the various fiber losses. L2 7
c | Given the Numerical Aperture 0.30 and RI of core 1.49 Calculate the 13 -
critical angle for the core-cladding interface.
OR
Q.02 | a | Discuss the applications of LASER in bar-code scanner and LASER L2 9
Cooling.
b | Discuss Point to Point communication using optical fibers. L2 6
c | Calculate the ratio of population for a given pair of energy levels
corresponding to emission of radiation 694.3 nm at a temperature of 300 105 5
K.
Module-2
Q.03 | a | Derive an expression for de Broglie wavelength by analogy and hence
: L ; L2 6
discuss the significance of de Broglie waves.
b | Explain the Wave function with mathematical form and Discuss the L2 9
physical significance of a wave function.
¢ | Calculate the energy of the first three states for an electron in one L3 =
dimensional potential well of width 0.1 nm.
OR
Q.04 | a | Explain Eigen functions and Eigen Values and hence derive the eigen
function of a particle inside infinite potential well of width ‘a’ using the L2 10
method of normalization.
b | Show that electron does not exist inside the nucleus using Heisenberg’s L2 5
uncertainty principle.
¢ | An electron is associated with a de Broglie wavelength of 1nm. L3 5
Calculate the energy and the corresponding momentum of the electron.
Module-3
Q.05 | a | Discuss the working of phase gate mentioning its matrix representation
and truth table. L2 6
b | Explain Orthogonality and Orthonormality with an example for each. L2 6
¢ ) @ B
Given |y) = (m) and |¢) = (/3,) Prove that (¢/|¢) = (¢|¢)" g 8
OR .
Q.06 | a | Explain the representation of qubit using Bloch Sphere. 12 6
b | Explain Single qubit gate and multiple qubit gate with an example for L2 8
each
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> .C | Explain the Matrix representation of 0 and 1 States and apply identity L3 6
» operator I1to|0 ) and | 1) states,
Module-4
> Q.07 | a | Enumerate the failures of classical free electro theory and assumptions 12 7
> of quantum free electron theory of metals.
b | Explain Meissner’s Effect and the variation of critical field with L2 8
? temperature.
v ¢ | A superconducting tin has a critical temperature of 3.7 K at zero
magnetic field and a critical field of 0.0306 Tesla at 0 K. Find the critical L3 5
P field at 2 K. il G
> OR
D Q.08 | a | Explain the phenomenon of superconductivity and Discuss qualitatively
the BCS theory of superconductivity for negligible resistance of metal at L2 9
D temperatures close to absolute zero.
@ b | Give the qualitative explanation of RF Squid with the help of a neat L2 6
sketch.
P ¢ | Find the temperature at which there is 1% probability that a state with an
P energy 0.5 eV above L3 5
Fermi energy is occupied.
Module-5
Q.09 | a | Elucidate the importance of size & scale and weight and strength in L2 8
animations.
b | Mention the general pattern of monte Carlo method and hence determine L2 6
the value of .
& c | Describe the calculation of Push time and stop time with examples. E3 6
‘ OR
Q.10 | a | Sketch and explain the motion graphs for linear, easy ease,easy ease in 12 8
and easy ease out cases of animation.
b | Discuss modeling the probability for proton decay. 12 7
¢ | A slowing-in object in an animation has a first frame distance 0.5m and
the first slow in frame 0.35m. Calculate the base distance and the 13 5
number of frames in sequence.
¥

Bloom’s Taxonomy Level: Indicate as L1, L2, L3, L4, etc. It is also desirable to indicate the COs and POs to be
ttained by every bit of questions. 3
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Question| Bloom’s Taxonomy Course Program Outcome
Level attached Outcome
Q1 |(a L2 1 1,2,12
() L2 1 1
(© L3 1 1,2
Q2 | (@ L2 1 1,2
(b) L2 1 1,2,12
(©) L3 1 1,2
Q3 |[(a) L2 2 1,2
(b) L2 2 1212
(©) L3 2 1,2
Q4 |(@) L2 2 1,2,12
(b) L2 2 1,2
(© L3 2 1,2
Q5 | (@ L2 2 1,2
(b) L2 D 1,2
(© L3 2 1,2
Q6 | @ L2 2 1,2,
(b) L2 2 1,2
© L3 2 1,2,12
Q7 [(@ L2 3 1,2,12
®) L2 3 1,2
© L3 3 1,2
Q8 |[(a L2 3 1,2
(b) L2 3 1,2,12
© L3 3 1,2
Q9 | L2 4 1,2,5
() L2 4 1,2,12
(©) L3 4 1,2
Q10 | (@ L2 4 1,2,5, 12
(®) L2 4 1,2
(0) E3 4 152
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Model Question Paper-I/IT with effect from 2022-23 (CBCS Scheme)

First/Second Semester B.E. Degree Examination
Introduction to Internet of Things (I0T)

TIME: 03 Hours

Max. Marks: 100

Note: 01. Answer any FIVE full questions, choosing at least ONE question from each MODULE.

*Bloom’s
Module -1 Taxonomy | Marks
Level
Q.01 Name the four broad categories of computer network based on | Ll 8
reachability and explain them briefly.
Differentiate between IoT and M2M. L1 6
With a neat diagram explain the network communication between two 6
hosts following the OSI model. L1
OR
Q.02 What is IoT? Write the characteristics of IoT System. Ll 5
s With a neat diagram explain the inter dependency technology for IoT L2 10
Planes.
With a neat diagram explain Internet protocol suite. L1 5
Module-2
Q.03 With a neat diagram explain the working mechanism of actuator. L1 6
Explain the types of actuators. L1
Define sensor and explain the characteristics of sensor. L2 6
OR
Q.04 List and explain the characteristics of Actuators. L2 8
Explain the major factors influence the choice of sensors in IoT-based Ll 8
sensing solutions.
With a neat diagram explain scalar and Multimedia sensing technics. L1 4
Module-3
Q.05 List 'and explain common data types in IoT applications L1 5
L1 10

With a neat diagram explain offsite processing topology.

; PaEe 01 oﬂfz
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Write a short note on offloading considerations. Ll 5
3 OR
Q.06 With a neat diagram explain onsite processing topology. Ll
Explain IoT Device Design and Selection Considerations L2 ]
Write a short note on offload location and offload decision making. L1 e
Module-4 i
Q. 07 Define Virtualization. Discuss advantages of virtualization L1 g
Summarize the case study related to Smart irrigation management system. | L2 ]
With the help of neat diagrams explain the of cloud models. Ll B
OR
Q.08 | a | With a neat diagram explain Architecture of a sensor-cloud platform L1 8
With a neat diagram explain Components of an agricultural 10T L1
o | With the help of neat diagrams describe the difference between Network | L1 7
computing and cloud computing
, Module-5
Q. 09 | a | With a neat diagram explain the Architecture of vehicular IoT. L1
Define Machine learning and explain the advantages of ML. Lk 6
o | With a neat diagram explain Architecture of healthcare IoT. L1
g OR
~ |[Q10]a|List the advantages of vehicular IoT. L1 72
 Srare With a neat diagram explain the types of Machine learning. L1
= Write note on advantages and risk of healthcare IoT. L= 22

s s
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Model Question Paper-I with effect from 2022-23 (CBCS Scheme)
USN

First/Second Semester B.E. Degree Examination

Introduction to Internet of Things (10T)

TIME: 03 Hours Max. Marks: 100

Note:  01. Answer any FIVE full questions, choosing at least ONE question from each MODULE.

*Bloom’s
Module -1 Taxonomy | Marks
) Level
Q.01 [a [ Classify network types based on physical topologies and connection types with 12 10
schematic diagrams.
b | Explain the IoT planes, various enablers of ToT, and the complex 12 10
interdependencies among them with a block diagram.
OR
Q.02 [a | Explain networked communication between two hosts following the TCP/IP 12 08
suite with a block diagram.
b | Outline the interdependence and reach of IoT over various application domains 12 08
and networking paradigms.
¢ | Summarize the characteristic features of IoT systems. L2 04
Module-2
Q.03 | a | Outline the basic differences between transducers, sensors, and actuators. L2 06
¢ | Compare mechanical, soft, and shape memory polymer based actuators. L2 06
b | Classify sensing types based on the nature of the environment and the physical 12 08
SENsOrs.
OR"
Q.04 |a | Compare the common commercially available sensors used for IoT-based L2 06
sensing applications.
Outline a simple actuation mechanism. 2 06
¢ | Explain four common characteristics actuators used for selection. 12 08
Module-3
Q. 05 | a | Explain event detection using an off-site remote processing topologywith a 12 10
block diagram.
b | Explain the data offloading strategies: Offload location and Offload decision L2 10
making
ng.
OR
Q.06 |a | Contrast between structured and unstructured data. Outline various data L2 10
enerating and storage sources with a block schematic.
b | Outline an IoT deployment (processing offloading) with the various layers of L2 10
processing involving different application domains with a diagram.
Module-4
Q.07 | a | Explain the architecture of a smart irrigation management system. 12 06
b | Classify the deployment model of Cloud with relevant explanation. L2 06
¢ | Explain the importance and metrics of Service-Level Agreement (SLA) in 12 08
Cloud Computing.
OR
Q.08 [ a | Classify virtualization based on the requirements of the users. Explain. L2 08
b | Explain architecture of a sensor-cloud platform with bock diagram. L2 08
¢ | Explain the features of CloudSim. 2 04
Module-5
Q.09 | a | Explain fog framework for intelligent public safety invehicular environments L2 10
Page 01 of 02
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Model Question Paper-1/11 with effect from 2022-23 (CBCS Scheme)

o EEE
' First/Second Semester B.E. Degree Examination
TIME: 03 Hours Max. Marks: 100
Note: Answer any FIVE full questions, choosing at least ONE question from each MODULE.
e *Bloom’s
Module -1 Taxonomy Marks
Level
Q.01 Define computer. Describe the various types of computers based on speed, L1 8
memory and cost.
Develop an algorithm to find the area and perimeter of a circle. Also define an L2 6
algorithm.
\ L1 6
Write a short note on the characteristics of a computer
OR
Q.02 What is variable? What are the rules to construct variable? Classify the following L1 8
as valid/invalid Identifiers.
i) num2 ii) $numl1 iii) +add iv)a_2 v) 199 space vi) _apple vii}#12
Draw a flowchart and C program which takes as input p,t,r. Compute the simple L2 6
interest and display the result.
Write a note on the following operators. i) Relational ii) Logical iii) Conditional 6
Module-2
Q.03 Develop a C program that takes three coefficients (a, b, and ¢) of a quadratic L3 8
equation ; (ax’ + bx + ¢) as input and compute all possible roots and print them
with appropriate messages.
Explain the working of goto statement in C with example. L2 6
L2 7
Explain switch statement with syntax and example
‘ OR
Q.04 Develop a simple calculator program in C language to do simple operations like 13 8
addition, subtraction, multiplication and division. Use switch statement in your
program
L1 6
Explain with examples formatted input output statements in C
Explain with syntax, if and if-else statements in C program. L2 7
Module-3
Q.05 Write a C program to swapping of 2 numbers using call by reference and call by L3 8
value.
Discuss the implementation of user defined function with suitable example. r2 6
. OR
Q. 06 Write a C program to find the product of two given matrix. L3 8
Explain the working of recursion with suitable example. 2 6
1 and twa dimancianal T2 A
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| | arrays with an example.
Module4 -
Q.07 |a | Develop a C program to concatenate 2 strings without using built-in function. L3 60
b T T L2 1
Défine String. Explain any 4 string manipulation function with suitable example. |
¢ | Explain the difference between gets() and scanf() functions. L2 4
e L QRO e ]
Q.08 [a | Develop a C program to find the largest of three numbers using pointer, e L3 6
b | Define Pointer. Explain pointer variable declaration and initialization with L2 10
suitable example. SRRy .
¢ | Explain the difference between a null pointer and a void pointer. L2 4
— ModuleS 2
Q.09 | a [ Discuss the general syntax of structure variable declaration of structure to store L3 8
book information. i RO L oo e
b | Differentiate between structure and union. L2 6
C Sk L3 6
Write a program to write employees details in a file called employee.txt. Then
read the record of the nth employee and calculate his salary.
OR
Q. 10 | a | Discuss the different modes of operation on files with suitable example. L3 8
b | Differentiate between gets() and fgets(). L2 6
¢ | Implement structures to read, write and compute average- marks of the students, L3 6
list the students scoring above and below the average marks for a class of N
students.

WA AR R AR RN ddINEd9dd9 93599397
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> Model Question Paper-1/11 with effect from 2022-23 (CBCS Scheme)

USN l ] J
First/Secoﬁd écmeét& B.E. Degree Examination

BTt
)

TIME: 03 Hours Max. Marks: 100

Note: Answer any FIVE full questions, choosing at least ONE question from each MODULE.
*Bloom’s
Module -1 Taxonomy | Marks
g R R R Level
Q.01 [a [ Explain the components of a computer with a neat diagram. Z 6
Describe any three input devices SOl 2 6
¢ | Design an algorithm, flowchart and program to compute area of a circle. 3 8
OR
Q.02 [a [ Define Identifiers and explain its rules. State whether the following identifiers are | 3 6
valid or invalid with justification.
i $roll no
'] il _namel23
iii. If
iv. Name 123
b | Summarize the formatted input and output statements with suitable syntax and 2 6
example
¢ | Explain the SDLC life cycle for the efficient design of a program with a neat 2 8
diagram.
Module-2
Q.03 | a | Describe any 4 types of operators in C with example 7 6
Differentiate between type conversion and type casting in C - 6
¢ | Write a program to compute the roots of quadratic equation by accepting 3 8
coefficients
OR
Q.04 | a | Define looping. Explain while and do-while with suitable example 2 6
b | Implement a C program to simulate a simple calculator that performs arithmetical | 3 6
operations using switch statements.
¢ | Explain unconditional statements with example 2 8
Module-3
Q.05 |a | Explain the syntax of Function Declaration and Function Definition with 3 6
example.
b | Write a C program to swap two integers using call by value method of passing 3 6
arguments to a function.
¢ | Describe different types of storage classes with example. 2 8
OR
Q.06 |a | What is an array? Explain how two dimensional arrays are declared and 2 8
initialized.
b | Write a C program to find transpose of a 3x3 matrix. 3 6
¢ | Discuss any three operations that can be performed on arrays with example. 2 6
Page 01 of 02
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Module-4 o
Q.07 |a | What are strings? Mention different operations that can be performed on strings? | 2 8
Explain any two with an example?
b | Explain array of strings with an example? 2 4
¢ | Discuss the working of the following slrit@,»lﬁki;ﬁiiblii;'ﬂ;(;h“Vfi'lricl_i()ns with suitable | 3 8
code:
i) strchr  ii) strspn i) steemp  iv) strepy
Rl SRR e S
Q.08 |a | Define pointers and explain how to declare a pointer variable? 2 8
Differentiate null pointer and void pointer with suitable example?
b | Write a program to add two integers by passing pointer variable as parameters to | 3 7
functions?
¢ | Write a program to print all even numbers from m to n using pointers? 3 5
Module-5
Q.09 |a | What is structure? Explain the C syntax of structure declaration with example 2 6
b | Differentiate between Structure and Union. 4 6
¢ | Write a C program to maintain a record of “n“ students details using an array of | 3 8
structures with four fields (roll no, name, marks and grade).Assume appropriate
data type for each field. Print the names of the student with marks>=70.
OR
.10 | a | Explain I/O stream and Data I/P stream used in files. 2 6
b | Define Enumerated data type. Explain the declaration and access of enumerated | 2 6
data types with a code in C.
¢ | Write a function to perform the following i) Read data from a fileii) Write data to | 2 8
a file

*Bloom’s Taxonomy Level: Indicate as L1, L2, L3, L4, etc. It is also desirable to indicate the COs and POs to be
attained by every bit of questions.

Page 02 of 02
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D Model Question Paper-1/11 with effect from 2022-23 (CBCS Scheme)
» o R
D First/Second Semester B.E. Degree Examination
'I? PRINCIPLES OF PROGRAMMING USING C
r’ TIME: 03 Hours Max. Marks: 100
g Note:  01. Answer any FIVE full questions, choosing at least ONE question from each MODULE.
B 02. Use C code snippet to illustrate a specific code design or a purpose
n e TR o AR R *Bloom’s

. Module -1 Taxonomy Marks
T? Level
B Q.01 |a | Explain the structure of C program in detail. Write a sample program to | L2 8
D demonstrate the components in the structure of C program
ﬁ b | Demonstrate formatted output of integer in C with suitable example L3 6
v ¢ | Discuss different types of error occur in program L2 6

OR
]? Q.02 | a | Explain the various rules for forming identifiers names. Give examples for valid | L2 8
ﬁ and invalid identifiers for the same.
v b | Mention various output devices and explain hardcopy devices Ll | 6
v ¢ | Discuss the variants of microcomputer that are widely used today L2 6
"lj Module-2
w Q.03 | a | Demonstrate the functioning of Bitwise operator in C L3 6
- b | Write a C program to find roots of quadratic equation L3 8
V ¢ | Distinguish between the break and continue statement L4 6
ﬁ OR
? Q.04 | a | Illustrate Nested loops in C with suitable example L3 6
ﬁ b | Write a C program to print whether a given number is palindrome or not L3 7
ﬁ ¢ | Explain switch statement with syntax. Write a C program to simulate calculator L3 7
ﬁ Module-3
]i Q.05 |a | Writea C program to implement Bubble sort technique(ascending order) 3 8
ﬁ b | Hlustrate the concept of recursive function with example L3 6
¢ | Discuss various scope of variables L2

A %
# Q.06 |a Differentiate between call by value and call by reference. Using suitable example | L4 8
ﬁ b | Write a C program to transposc a MxN matrix L3
ﬁ ¢ | Discuss the various storage classes L2 4
ﬁ Module-4
ﬁ Q.07 |a Mention various operations that can be performed on string using built-in L2 8
ﬁ functions. Explain any two function :
ﬁ Lb_ Develop a program using pointer to compute the sum, mean and standard | L4 8
S
L |
~
- D
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deviation of all element stored in array of N real number
¢ | Explain how strings are repreqented in main memory L2 4
I D L e o
Q. 08 Write a program to compare two strings . without using built-in function L3 8
; MRS S ey
b | What is pointer? Discuss pmnlcr ter arithmetic with suitable C code L2 6
————————— e ——— _._‘__—.‘-—v.___,_—————____.,—-———’_‘-r-—‘_—'—
¢ | Explain getsQand puts() function with cxnmplc L2 6
—— N e et et ————— - ,,,--_,_‘_"_—__—.___'/‘__f’———‘
______ Mmlulc-< | ==y
Q.09 |a E‘(plam various modes in which file can be opmcd for pl()LLng L2 7
b | Implement structure 10 1o read, write and u)lhpl;lc .wcmgc . marks of the qu;dg;t;, 8
List the students scoring above and below the average marks for a class of n
students
c m’hat are enumeration variable? How are they declared
OR PP AT
Q.10 |a Write a short note on functions used to
Read data from a file
Write data to a file
b | Differentiate structures and unions with syntax and example
¢ | How to detect END-OF-FILE
Table showing the Bloom’s Taxonom Jevel, course outcome and program outcomes
Questions Bloom’s Taxonom Course Outcome Program OQutcomes
Q3 (a2 152 co1l PO1,PO2
b L3 co2 P0O1,P0O2
c L2 co2 P0O1,P0O2
Q.2 a L2 Cc0o2 P0O1,P0O2
b L1 co1l PO1
c L2 co1 PO1
Q.3 a L3 co2 PO1,PO2
b L3 €02,C05 P0O1,P02,P0O3
C L4 co2 P0O1,P0O2
M TR
Q.4 a L3 co2 P0O1,P0O2
b L3 €02,C05 PO1,P02,PO3
c 3 L3 €02,C0O5 P0O1,PO2
Q.5 a L3 Cco3 PO1,P0O2, PO3
b L3 C03,C05 pP0O1,P0O2,PO3
c L2 cO2 P0O1,P0O2
Q.6 a L4 co4 pPO1,PO2,PO3
b L3 Cco3 PO1,P02,P0O3
c L2 CO2 P0O1,PO2
b S
Qd a L2 CO5 PO1,P0O2, PO3
b L4 CcO4 P0O1,P02,PO3
c L2 CO2 PO1
Q8 a L3 Cos PO1,P02,PO3
b L2 co4 P0O1,P0O2
c L2 C02 PO1
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Qs” |a L2 cos PO1,P02
b L3 coac PO1,p02,P03
c L1 co4 PO1

Q10 |a L2 €02,C05 PO1,P02
b L4 co4 PO1,P02
c L2 co2 PO1

(A
)

-

KA ol
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Course Code-22ESC142

Model Question Paper-I/IT with effect from 2022 (CBCS Scheme)

USN

o

First Semester BE Degree Examination
Course Title — Introduction to Electrical Engineering

TIME: 03 Hours

Note: Answer any FIVE full questions, choosing at least ONE question from each MODULE.

Max, Marks: 100

Q. No. Modulel Marks
With neat single line diagram explain the various steps of electrical power
a s el e 06
transmission and distribution system.
b | State and explain Kirchhoff’s current and voltage law. 06
Ql A circuit of two parallel resistors having resistances of 20€2 and 30€2 connected in
5 series with 15. If the current through 15Q resistor is 3A. Find i) current in 2002 08
and 30X resistors ii) voltage across the whole circuit iii) the total power and power
consumed in all resistors.
OR
a | With block diagram explain hydel power generation. 06
b | State and explain Ohm’s law with its limitations. 06
¢ | For the circuit shown in fig (i) find the current in 2Q resistor.
N =
e 20
e — —-40V 08
&5 F
fig@)
Module 2
Define the following by referring a sine wave i) RMS value ii) average value iii) 06
@ | form factor iv) peak factor v) phase and vi) phase difference.
Show that the current through purely capacitive circuit leads the applied voltage by
b | 90° and average power consumed is zero. Draw the wave shapes of current, voltage | 08
Q3 and power.
An inductive coil takes a current of 10A from a supply of 100V, 50Hz and lags the
¢ | voltage by 30°. Calculate i) parameters of the circuit ii) power factor iii) active, | 06
reactive and apparent power.
OR
With the help of circuit diagram and phasor diagram, find the phase angle, 06
2 | impedance and power in case of R-L series circuit.
A _circuit consists of a resistance of 209, an inductance of 0.05H, connected in
Q4 series. A single phase supply of 230V, 50Hz is applied across the circuit. Find i) 08
b impedance ii) current iii) power factor iv) power consumed by the circuit v) voltage
drop across R&L vi) draw the vector diagram.
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e of 0.02H are connected in star

Three coils having resistance of 1062 and inductanc
across 440V, 50Hz three phase supply. Calculate the line current, power factor and 06
total power consumed. it GRS SN L
“Moduled
With a neat diagram explain the construction of D.C. generator. 08
Derive an expression of armature torque developed in a D. C. motor. 08
Qs An 8 pole generator has 500 armature conductors and has a useful flux per pole of
0.065wb. What will be the emf generated if it is lap connected and runs at| .,
1000rpm? What must be the speed at which it is to be driven to produce the same
emfif it is wave wound?
OR
Explain the various methods used to control the speed of D.C. series motor. 08
A 4 pole D.C. shunt motor takes 25A from a 250V supply. The armature and field
Q6 resistances are 0.5Q and 125Q respectively. The wave wound armature has 30 slots 08
and each slot containing 10 conductors. If the flux per pole is 0.02wb, calculate i)
speed ii) torque developed iii) power developed.
With usual notations derive an emf equation of D.C. generator. 04
Module 4
Derive the emf equation of a transformer and hence obtain the voltage and current 08
transformation ratios.
With neat diagram explain the types of three phase induction motor. 06
Q7 A transformer is rated at 100 kVA. At full load its copper loss is 1200W and its
iron loss is 960W. Calculate: i) the efficiency at full load, UPF ii) the efficiency at 08
half load, 0.8 p.f iii) the load kVA at which maximum efficiency will occur iv)
maximum efficiency at 0.85 p.f.
OR
Explain the various losses in a transformer and how to minimize them? 08
With diagrams explain the concept of rotating magnetic field. 06
Q8 A three phase induction motor with 4 poles is supplied from the alternator having 6
poles running at 1000rpm. Calculate synchronous speed, rotor speed of the 08
induction motor when slip is 0.04 and frequency of the rotor emf when the speed is
600rpm.
Module 5
With neat circuit diagram and switching table explain two way and three way
control of load. 08
Q9 With diagram explain the working of fuse. 08
What is earthing? With neat diagram explain the pipe earthing. 06
_ OR
Define “unit” used for consumption of electrical energy and explain the two part
tariff with its advantages and disadvantages. 08
Q10 What is electric shock? Give the list of preventive measures against the shock. 08
List out the power rating of household appliances including air conditioners, PCs, 06

laptops, printers, etc. Find the total power consumed.
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Bloom's

Table showing the Bloom's Taxonomy Level, Course Outcome and Program Outcome |

Question | Taxonomy Level MORESe Program Outcome
Outcome
attached |
a L2 CO5 | POl, PO2, PO3, POS, POG, POT7, POB
Q1 /b L2 CO1 | pol1, POZ, PO3, POS, POSG, PO7, POB
c L3 CO2 | PO1, PO2, PO3, PO4, POS, PO6
a L2 CO1 | PO1, POZ, PO3, POS, PO6, POT, POB
Q2| b L2 COl1 | PO1, PO2, PO3, PO5, POG, PO7, POB
c L3 CO2 | PO1, PO2, PO3, PO4, POS5, PO6
a L2 CO1 | POI, PO2, PO3, PO5, POS, PO7, POB
Q3 (b L4 CO2 | POI1, PO2, PO3, PO4, PO5, PO6
c L3 CO2 | POl, PO2, PO3, PO4, PO5, PO6
a L3 CO2 | POI1, PO2, PO3, PO4, POS5, PO6
Q.4 | b L3 CO2 | POI1, PO2, PO3, PO4, POS, PO6
¢ L3 CO2 | POI1, PO2, PO3, PO4, POS, PO6
2 L2 CO3 | PO1, POZ, PO3, PO4, PO5, PO6, PO7, PO8
Q5 | b L3 CO3 | PO, PO2, PO3, PO4, POS, PO6, PO7, POS
¢ L3 CO3 | PO1, PO2, PO3, PO4, POS5, PO6, PO7, POS
a L3 CO3 PO1, PO2, PO3, PO4, POS, PO6, PO7, PO8
Q.6 [ b L2 CO3 | POI, PO2, PO3, PO4, POS, PO6, PO7, PO8
c L3 CO3 | POI, PO2, PO3, PO4, POS, PO6, PO7, PO8
a L4 CO4 PO1, PO2, PO3, PO4, PO6, PO7, PO8
Q.7 b L2 CO4 PO1, PO2, PO3, PO4, PO6, PO7, PO8
c L3 CO4 PO1, PO2, PO3, PO4, PO6, PO7, PO8
a L2 CO3 PO1, PO2, PO3, PO4, PO5, PO6, PO7, PO8
Q.8 b L3 CcO3 PO1, PO2, PO3, PO4, PO5, PO6, PO7, POS
c L3 C0O4 PO1, PO2, PO3, PO4, PO6, PO7, POS
a L2 CO5 PO1, PO2, PO3, POS5, PO6, PO7, PO8
Q.9 b L4 CO5 PO1, PO2, PO3, POS, PO6, PO7, POS
¢ L2 CcOs5 PO1, PO2, PO3, POS5, PO6, PO7, POS
a L2 CcOs5 PO1, PO2, PO3, POS, PO6, PO7, PO8
Q10| b L2 CO5 PO1, PO2, PO3, POS, PO6, PO7, POS8
¢ L4 CcO5 PO1, PO2, PO3, POS5, PO6, PO7, PO8
' Lower order thinking skills
Blooms Remembering( Understanding Applying (Application):
Taxonomy knowledge):L1 Comprehension): L2 L3
Levels Higher order thinking skills

Analyzing (Analysis): L4 | Valuating (Evaluation): L5 | Creating (Synthesis): L6
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c. | Using modern mathematical tool write a program code fo cvaluate | 5 (L‘ (COS

Lt ( 1)‘
l+-1.
K“'):x; X

_ Muodale~3 T

d)’ \
Solve i Fytanx =y secx. :
{ i

|
3 |
el $25

i |
U CINURU— T PP | _L_--_J:.__.-._,j
b. | Find orthogonal trajectories of family of curves " = a” cosnf, | 7 |L3CO2|
e - — - S—— . st s S oy ! : »—--:
i | C Solve x'p~ + 3xyp + 2y =0. (7 (L2 COzZ
ka : o . ST i e ,;
S WORY L s S s
| Q.6 | a. | Snl\c (X =y + x)dx *xydv 0. | 6 ; L2|CO2 |
.TI?L_. Y B! |
w b. | l hnd the general solution 01 the equation (px — y) (py +X) = 2p by reducing { ;
|  into Clairaut’s form by taking the subcmutlon )\ =x,Y=y. 7 {L2 {COZ}
v = : e
%?! c. | A 12 volts battery is connected to a serics- c;rcu:t in which the inductance is : |
: 1 ’ ,
v‘ & Henry and resistance is 10 obms. Determine curent I. if the initial Fior 2 :
N current s z6r0. - 713 fcoz |
o Womhn. s o o Wal
Q.7 [a. |1) Findthe last digit in I35 { 61L2}CO3
w ¢ i) Find the remainder when 7” is divided by 10: )
i ] v i : :
Y i I T
W b,  Find the solutions of the hmar wmzruenc«. hx 6{mod21). - i 7 |L2 | C03 j
1 I
wm Find the oencvai soiuuon of linear Dm—phamme equauon 70x + 112y = 168. $ 7 {12 COJ ;
i S g s t i S
N A | . _OR - )
f6[1L2]CO3

Q.8 |a.|Findthe rcmamder when 14' Is divided by 17.

-

Find lhc solution of system m‘ lmear congruences

7% + 3y = 10(mod 16) -
2% + 5y = 9(mod 16§, 7 |12 | CO3

.

Solve x = 3(11;_6& 5), x = 2(mod 6), x = 4(mod 7{using Chinese remainder

«««m

theorem. 7 113 ! CO3
Module —5
! fo 1 -3 -1 ‘
V e
f Q9 |a Fmdtl-zemnkof’ma;wmA...3 R L 6 | L2 | CO4
F T e

f

§

e
iy e

e,
U

s
)
b2
g
L%

ol b N Bl oy
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First Semester B.E./B.Tech. Degree Examination, Jan./Feb. 2023
Applied Physics for CSE Stream

USN

Time: 3 hrs. Max. Marks: 100
Note: 1. Answer any FIVE full quevﬂom, chomlng ONE full question from each module.

2. VTU Formula Hand Book is permitted,,

3. M : Marks , L: Bloom's level , C: Course otitcomes. [
N 2 " Module=1 — ey |MILY C
Q.1 ' Explain the construction and working. of a semiconductor laser with the | 8 | L2 CcO1
‘ help of energy level diagram. o’ ~
k) ]
b. | What is refractive index proﬁlc:"J Discuss three different typcs of optical | 7 | L2 | CO1
ﬁbres based on modes of propngahon and refractive index proﬁle
.| 5 |13 | CO5

pucal fibre is 30° whqn kcpt in air, Find the

AUCCCOOUC GGG 444 4494294894 424424

/
\

v

r p

& The angle of acceptance; of an 0
| anglc of acceptance when it'is in a me

R OR
Q.2 | a. ! Define acceptanca anglc and numerical aperture. Derive an expression for | 8 | L2 | CO1
' numerical apertpre in terms of refractwe mdlces of core, cladding and

dium of rcfractn/c index 1.33.

burroundmg A

b. Denvean expressmn for energy densntyfor a system in thermal equilibrium 7 | L2 | CO1
* | in terms ‘of Einstein’s co—efﬁcnent Fig.,

5 | L3]|CO5

e In a diﬂi'acnon grating experm{ent Ihe laser light undérgoes second order
' diffraction for diffraction angle 1.48°. The grating- constant is 5. 08x10”°m

" and the distance between the grating and the source 1{s:80 cm, find the wgyc

| s
; Module -2 ki
Q3 | Assuming the time independent Schrodlfig’er s wave equationi discuss the 9 | L2 | CO2
. solution for a pamcle in one dtmensional potential well onnfmne height
- and hence obtam ‘the normalized waye bguahon Ny
“State and explam Heisenberg unccmmty prmmple Show that an electron | 7 | L2 | CO2
- doesn’t exn,sts inside the nucleus:e\ -3 : .;.:
¢ | Couﬁute the deBroglie w@veipngth for a neutroii movmg With one tenth | 4 | L3 | CO2
i pan*of velocity of hghk&wen the mass of the neutron is 1.674x10™ kg
or‘ ) / :;;7 OR 'J’qd
Q4 'a.LSctup Schrodinger tu;;e independent wave: équatlon in one dimension. L2 | CO2
p. Define phase velocity and group ygléclty Derive an expression for De | 7 L2 | CO2
| Broglie wavelength of an clectron. L
¢ IAn electron., has a speed of fQD s, The inherent uncertainity in its 4 |L3|CO2
measurement is 0.005%. Caleulate the corresponding uncertainity in the
measurement of the posmon
o ‘» © Module-3
Q.5 |a. Explainthe Paull mamces and apply Pauli matrices on the state |0) and|1). | 9 L2 | CO2
b. | Differcntiate betwncn classical and quantum computing. L2 | CO2
¢. | Explain the Hadamard gate. Show that the Hadamard gate is unitary. 5| L2|CO2
SR ; P | | of 2
-}':.H‘!

gl
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OR__ ———;r‘*"’“’—"_‘r——‘l
LA ” L2 | CO2
Q.6 |a. | A Lincar operator ‘X' operates ¢s such that X| 0) and ,}S l),;—‘,!\ Find the | 5
matrix representation of ‘X', w, A o
b. | Describe the working of CNOT gate mcntmnmg ns fhgtnx rcprcscntation 9 | L2 | CO2
and truth table. "V"“\.'L._, L e 5 Teon
¢. | Explain the representation of qubn using Bloch qpﬁcrc
Module ~ 4% . > . P
Q.7 |a. | Enumerate the failures of classical frég electron theory and (ltscuit!..lﬁe g [L2]|CO3
success of quantum free electron 1h00§¥ of metals,
. | Explain DC and AC Josephson effects’ and mention any two apphcatlonv. of| 7 [L2|CO3
| superoonductmty in quantum cfompmmg 4, v
. | Find the temperature at which 5here is 1% probability that ~ state with an | 5 | L3 | CO3
l energy 0.5 eV above thc,QFcrmx energy is occupied. - 4 L_L_—J-—~—-'

OR %

Q.8 |a. Explain Menssners eﬁ'ect and the varxatlon §f crmcal fie
temperature. ﬁa"s

b. | Define Fermi’feii:t})r. Discuss
and energy--. ¢ At

the variatiom,gf%ermi factor with temperature

7

L2

[d with [ 8 | L2 CO3|,!

\

|
CcO3

co3

c. | The créczﬁ tempcrature of Nb is 9.15
0.196T. Qalculate the critical fi eld at‘S K.

\u.,’

K. At zero Kelvin, the critical field is

L3

4% ;
”’Qfoﬂule - Fa

CO4

Q9 a. | Discuss timing in Linear monon. Uniform motmn S@ .in and Slo

w oug:

L2

CO4

G5 of ] jumping in animation.”

sp

Describe Jumping and pg

'\‘;:

c. A slowmg-m object mé:h animation has q{ﬁrst frame distance 0.

! first slow in frame 035 m.

Calculate theabasgc’dlstance and. thﬁ number of

S and

CcO5

frames in scquentzgﬂ o)

—QM—T
A ﬂn s

r with suitable"eiﬁmpl

€.

CO4

Q.10 | a. Illustxate theodd rule and odd rulem tiplie

3 ling th bilit ton deca; ‘w
b Dnscugs tﬂgdc ing the probal onr proton decay. &,

CO4

Bl R B

C. |
1 ﬁbre cable of 1.5 m, g?ade*a spot diameter of*
¢ @istance between the d of the optical fi ibré-cable and the screen

Q‘alculatc the mgl%pf éontact and numeqcalmperture o

%p’txcal fibre expenm}mtdhe Laser hghtmtmg through optical
'8 mm on the screen. The

f given optical fibre.

is3.4 cm.

COs

‘Y \vsz

&
éfi& % A, ek ke

£ ? l’." :-;: {r,’ ’
) awd ¥
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First Semester B.E./B. Tech. Deg ;
Principles of Programming using C

BPOPS103

ree Examination, Jan./Feb. 2023

Max. Marks: 100

Note: 1. Answer any FIVE full questions, choosin
2. VTU Formula Hand Book is permitted,
3. M : Marks , L: Bloom’s level , C: Course oufcomes.

g ONE full question from each module.

e 7 | R T o ML
Q.1 |a. Explain the organization of Basic computer model with neat diagram. L1 | CO2
_“_.______’——-J————'»—————“
b. Explain Input/Output statement inC. L1 | CO2
c.  Listand explain any two input-output devices. 4 | L1 | CO2
OR S
Q2 |[a. Whatare the basic datatypes available in C? L2 | CO2
b. Define variable. Explain the rules to declare a variable with example. L2 | CO2
c: Wlth sultable example — Explain the basic structure of C program. L2 | CO2
Module -2
Q3 |a. What is type casting? Explain 1’(5 types with sultable example L2 | CO2
b. erte a C program to tmd the largest of three numbers using ternary 13 | CO2 !
operator :
e LlSt and explain uncondmonal branching: statements with example 8 | L1 | CO2
= .
Q.4 [a. List the conditional branching statements in ‘C’. Exp]am any two with | 6 | L1 | CO2
~ example. 4
b.  Write a C program to compute thc roots of ‘a: quadratlc equation by | 6 | L3 | CO2
acccptmg the coefﬁcxcnts prmt appropriate messages.
Cois Explam different types of loops in C. Iustlfy with its syntax and example. 8 | L2 | CO2
_ : Module — 3
Q.5 |a. Define an array. Explain with example. How to declare and initialize 2D-| 6 | L2 | CO3
array.
b.  Write a Cprogram to search art clement using binary scarch techni
P I g y scarch technique (for | 6 | L3 | CO3
. Writea C program to pérform addition of 2-dimensional matri i
atr1
- 3x3ordered matrices A and B). e ConsideriRa Fa R
|

OR

{Fof

%
b g
5
Ay, ¥

g
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Q.6 | a. | Define function. Explain the type of functions based on parameters. 8 |L2 |CO3
b. | Write a C program “to sort the elements using bubble qon'tcchr;iae—l—)—y—wgﬂ L3 | CO4
passing array as function argument.
£y 7 gl N ALl 6 | L3 | CO3
¢. | Write a C program to find the n. . [n, =
LY (n=rye
Module -4
Q.7 |a. Define a string. List the string manipulation functions. Explain any two | 8 | L2 co2
with examples.
b. Write a C program to find the length of a given string without uging built-in | 6 | L3 co3
function.
¢. Write a C program to check whether the QK’LI—I‘SEF—II;[;IQ Palindrome or not | 6 | L3 co2
without using built in function.
QN s ORUE e e LR Pt
Q.8 |a. Define Pointer. Explain how the pointer is declared and initialized with | 6 | L2 CO4
example.
b. Write a C program using pointers to compute the sum, mean and standard | 8 CO4
' dcviation’of all elements stored in an array of ‘n’ real numbers.
¢.  Write a C program to replace each constant in a string with the text one | 6 co3
' except letter ‘z’, ‘Z° and ‘a”’A’, for the string “Corona Virus” should be
_ modified as “DpSpoa Wjswvt”. -
~ Module -5
Q9 |a. Differentiate between structures and Union. L2 | CO4
b. Write a C program to implement structures to. pead and write Book-Title, L3 | CO3
- Book-Author and Book-id of n books.
c. | Write a note on files. A 6 | L3 | CO4
' OR
Q.10 | a. List and explain any four file operatlons in C. y L2 [ CO2
b. . Writea C. program to store and print name, USN, Subject and TA marks of L3 | CO4
. students using structure. .
X thte a note on enumerated data type. 6 | L2 | CO4
‘ oD%
t‘:"&,_._g
xyal“”
Py 7
o 20f2
£
R ‘(‘?;}9’:"'
\;
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First Semester B.E./B.Tech. Degree Examination, Jan./Feb. 2023
Introduction to Electrical Engineering

Time: 3 hrs. Max. Marks: 100

Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.
2. VIU Formula Hand Book is permitted,
3. M : Marky , L: Bloom's level , C: Course outcomes.

A = S
IVEGOTIRaet] JCETAE s GRS TR A M| L C
Q.1 |a. With the help of single line diagram, explain the electrical power | 6 | L2 | CO2
transmission and distribution system,

b. Explain the working of hydro power generation using relevant block | 8 | L2 | CO1
diagram,

¢. | A resistance R is connected in series with a parallel circuit comprising of | 6 | L3 | CO1
two resistance 120 and 8Q. The total power in the circuit is 70W, when the
applied voltage is 20V. Calculate R.

OR _
Q.2 | a. State Kirchhoff’s law for DC circuits. [Hustrate with an example. 6 | L2 | CO1

b. With the help of block diagram, explain the working of Solar power | 8 | L2 | CO1
generation.

¢. For the circuit shown in Fig. Q2(c), find the current supplied by each | 6 | L3 | CO2
. battery and power dissipated in 1< resistor.

: D ‘O‘A—ﬂ—
Fig. Q2(c) i’ S, |-
o0 Eley Tray

“Module—2
Q3 | a. A pure inductor excited by sinusoidal varying AC’:ypltage. show that the | 8 | L2 | CO1

- average power consumed by inductor is zero.

b; Define i) Real power i) Reactive power  iii) Apparent power | 6 | L1 | CO1
;;'iv) Power factor. T

¢. | The current in a circuit is (8 — j10)A, when the applied voltage is (50 +j25) | 6 |L3 | CO2
volts. Determine i) The magnitude of the current ii) Impedance
(i) The circuit clements  iv) Power factor v) Power.

OR

Q4 |a. Develop an equation for the power consumed by a R — C series circuit. | 8 | 1.2 | CO3
;‘ Draw the waveform of voltage, current and power,

b. ' With relevant diagrams, explain the concept of line values of voltage and | 6 | L2 CcOo3

 current and phqse;iyalues of voltage and currents in 3 ¢ star and delta
| connections. -

lof3

b B R R S ISR kv w/w /s /s /w5 1 ) ﬁiiigiiﬂq

LVl
i
q

h
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€. | A circuit having a resistance of 120 on inductors of 0.15H and a|6 |L3 [ CO3
capacitance of 100uF in series is connected across a 100V, 50Hz supply.
Calculate i) Impedance i) Current iii) Power factor
iv) Phase difference between the current and supply voltage v) Power.
B Mmhllc~ ‘_ Pt : __;:

Q.5 | a. | With the help of neat diagram, explain the construction of DC generator. 8 | L2 | CO4
b. With usual notations, derive the torque equation of a DC motof. 6 | L2 | CO4
¢. A d.c. shunt generator has a shunt f:la(T-\‘N—;;lall;}, resistance of 100€), it is | 6 | L3 | CO4

supplying a load of SkW at a voltagc of 250V. If its armature resistance is
0.22Q and per brush voltage drop is 1 volt. Calculate the induced e.m.f of
generator,
OR
Q.6 |a. Give the classification of DC generator. Obtain the expression for EMF | 8 | L2 | CO4
equation of a DC generator.
b. With neat diagrams, explain the speed control of DC shunt motor. L2 | CO4
¢. A 4 pole dc shunt motor takes 22 A from 220V supply. the armature and L3 | CO4
' field resistances are respectively 0.5Q and 100Q. The armature is lap
| connected with 300 conductors. If the flux per pole is 20 mwb, calculate
1) Speed 1) Gross torque. ]
Module — 4 «
Q.7 |a. Explain the working principle of single phase transformer and its necessity L1 | CO1
. in power system. :
b. Explain the concept of rotatmg magnetic field.in a 3 — phasc induction L2 | CO2
' motor with neat vector diagrams.
¢. The maximum efﬁciency at full load and unity power factor of a single — L3 | CO2
phase 25KVA, 500V/1000V, 50Hz, transformer is 98%. Determine its
efficiencyat 1) 75% load, 09p n) 50% load, 08 pf
| OR
Q8 |a. With relevant diagrams, explain the construction of 3 — phase induction L2 | CO2
| motors.
b. 4 Derive an EMF cquation of single phase transformer with usual notation. L2 | CO2
¢. A 3 - phase, 50Hz, 4 pole induction motor, its rotor induced e.m.fis 1.5 Hz L3 | CO3
 frequency. Calculate i) Synchronous speed i) Full load slip
iii) Actual speed.
Module - 5
Q9 |a. List the typcs of wiring system used for domestic / industry. Explain L1 | CO5
' suitable wiring used for s}ta‘uwse. give the schematic / circuit diagram.
b. What is Earthing? With a neat diagram, explain plate earthing. L2 | CO5
¢.  Define Unit and Tariff. Explain the two port tariff with its merits and | 6 | L2 | COS
| demerits.
: -y 20f3
¢ 5é;,,'.
%_ -
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Innovation & Design Thinking
1 hr.] [Max. Marks: 50

INSTRUCTIONS TO THE CANDIDATES

Answer all the fifty questions, cach question carries one mark.

Use only Black ball point pen for writing / darkening the circles.

For each question, after selecting your answer, darken the appropriate circle
corresponding to the same question number on the OMR sheet.

Darkening two circles for the same question makes the answer invalid.
Damaging/overwriting, using whiteners on the OMR sheets are strictly

prohibited.
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What is the usual order of problem solving process? .
a) Try, Reflect, Prepare, Define b) Prepare, Try Define, Reflect
¢) Try and Reflect - d) Define, Prepare, Try, Reflect

Reframing a Design Challenge -

a) Changes the Conceptual view point to an md1v1dua1 perspectlve
b) Helps us come up with the Right Problem to solve.

c) Challenges us to design to a marketing focus

d) None of these

Which of the following is true? -

a) By Empathlzmg one can define a Problem Well, Conceive a creative solution
resulting in break through innovation.

b) Empathy makes you a better human, but innovation requires out of the box thinking
and not Empathy

¢) Inventions are sudden Eureka moments and is not really part of the long-term
Research or Exploration.

d) You become an innovator by Questioning the status Quo.

Malini is in the Ideate phase. What is her goal?

a) To Come up with one or two great ideas

b) To come up with us many ideas as possible, good and bad.
c) To test his best idea.

d) To figure out which problem he’s going to solve

During which stage would you : start looking for a alternative ways of viewing the

problem. ’ !

a) Prototype b) Define c) ldeate d) Empathize
Version C -1 of 5
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Design Thinkers create low-fidelity prototypes to :

a) Test concepts quickly and cheaply with potential users.
b) Validate concepts for the market.

¢) Build Production-Ready products.

d) Estimatc the price of production

Which of the following well known consulting firms are offering Design Thinking as a
solution?

a) McKinsey & Co. b) BCG

¢) Bain & Co. d) All of above

Design Thinking is sometimes visualized as a linear process, but it is actually :
a) Impactful b) Incapacitating ¢) Intentional d) Iterative

Which of the following is NOT part of the idea-selection process in DT?
a) Grouping Related concepts together b) Identifying selection criteria
¢) Deliberating d) Prototyping

Robert researches statistics about the average age of school dropouts. Which stage is he
in?

a) Empathize b) Define problem statement

c) Ideate d) Prototype

Which of the following is the least true about open innovation?
a) It accelerates development process

b) It reduces cost of product development.

¢) It helps in creating product differentiation

d) It helps to beat competition

People Centered Design methodology involves;

a) A problem-solving approach for people that is linear and convergent.

b) A problem-solving approach which is abstract and Results n making people by
products.

c) A problem solving approach for people that both diverges and converges.

d) None of these :

User journey map helps you to,
a) Understand the touch point and pain pomts of the user.
b) iterate, iterate, iterate

- ¢) Identify the user’s credibility, expertise and Skl”S

d) None of these

What is the role of the Define Stage of design thinking?
a) To define the parameters for a prototype.

b) To define the audience, you're trying to Reach.

¢) To define the problem that needs to be solved.

d) To define all of the ideas for solving a problem.

What is a problem statement in design thinking?

a) A written expression of problems from the prototype.
b) A written expression of the problem to be solved.

¢) A written expr'essnon of problems inside the group.

d)A wntten expression of problems with target market.
, Version C -2 of 5
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What purpose does Point Of Veiw (POV) serve in design thinking?
a) It serves as the guide for developing the prototype.

b) It illustrates what your competitors are doing better.

¢) It is used in the testing phase for receiving feedback.

d) It provides focus for the design team’s brain storming.

In this Point of View (POV) statement, which part is considered the insight? “Senior
adults with arthrit is need Easy-Open bottles because they struggle to open childproof
lids™

a) Because they struggle to open childproof lids.

b) Need easy-open bottles.

¢) Senior citizens

d) None of these

What is Point Of View (POV) in design thinking?

a) A Report from the design team about the product.

b) A Customer’s opinion about interactions with you brand.
¢) A written statement of a Customer’s problem of need.

d) The opinion of the manager about how to brain storm.

Where do the insights in Point Of View (POV) in design thinking come from?
a) Researching other products on the market.

b) Interviewing the general Public on Social media.

c) Synthesizing the data that has been gathered

d) Developing ideas during brainstorming

People centered Design is -

a) How the product behaves in the real context.

b) How a product works on the outside where.a person comes into contact with it and has
to use it. : :

c¢) All of the above

d) None of the above

Design thinking Approach leads to o T
a) Technology centric designs. b) Marketing centric designs
c) People centric designs ’ d) All of the above

Design-Impacts the business _
a) True % “b) False

Empathy 1s -

a) to understand people and the contexts of their use of a product
b) to know the way the product works

¢) to imagine people’s behavior in different contexts

d) None of these

Design thinking encompabseé -

a) Desirability b) Feasibility

¢) Viability : d) All of these

Which one of th‘e‘_'foilowing is not the mindset of a design thinker?
a) Quick design b) Prototype refinement

¢) Coding . d) Engineer product
Version C — 3 of §
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Which of the following is not the mindset of a Design Thinker?
a) Make it b) Learn from Failure
¢) Self oriented d) Empathy
Where does the information for defining the problem in the define phase come from?
a) The Terting stage b) The prototype stage
¢) The Ideate stage d) The Empathize stage

Crafting a Point Of View (POV) requires three key elements including all of these Except
which?

a) Design b) User ¢) Insight d) Need

Who is the recommended group that you should test out the prototypes with?

a) Your target customers b) People in your team

¢) Professional designers d) Experts

Which 1s not one of the types of prototype of prototyping Mode 17

a) Horizontal prototype b) Vertical Prototype

c¢) Diagonal prototype d) Domain prototype

What is your First model/design of a product called?

a) Draft b) Rough Draft ¢) Prototype d) Practice Design

The final step in the Design process is to

a) Test b) Define " ¢)- Ideate,; . d) Empathize
was IDEQ’s first expression of design thinking.

a) Deep-Design b) Decp—Dwe c)’ D_e'ep—Structure d) Study-Dive

Frank Robinson defined and coined the term :

a) Design thinking = b) Mind mapping . ¢) MVP & - d) Hypothesis

Which of the below is incorrect? - -

a) Peprico has turned Design Thmkmg into its strategy.

b) Air BnB avoided bankruptcy and turned proﬂtable using Design Thinking
¢) Google has a 3 step process to bring about new mnovatxon

d) All of the above are correct

At what step do you want to complete the POV Point Of View?

" a) Empathy b) Prototype " ¢) Define d) Ideate
The initial design brief iS provided by,
a) Designer b) User ¢) Both of them d) Client
What Element of user Experience Design would the design strategy fall under,
a) Interaction Design b) Experience strategy

¢) User Research Ay d) Information Architecture

When testing a new prototype, how many people do you need to interview per Persona to
detect the main usablhty issues?

a) The more Persona the better b) 20 Persons per Persona

c) 10 Persons per Persona d) Five Persons per Persona

,.451
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40. Readiness of the organization for strategic innovation means,
a) Changing innovation process in the organization
b) Ready for the change in the organization
¢) Ready for change in the capabilities of the organization
d) All of the above

41. What is design considerations are not linked with?
a) Products b) Services ¢) Business d) Computers

42. 'To Empathize, one has to,
a) Observe b) Engage ¢) Listen d) All of the above

43, story telling is the most compelling type of story,
a) Aural b) Visual c¢) Textual d) All of these

44. Design thinker in an organization are,
a) People b) Employees ¢) Managers d) All of these

45. Comprehensive principle of Design thinking does not include
a) Relationship b) Collaboration ¢) Communication  d) Suppliers

>

>

N

.

»

|

.?

»

g 46. In design, where does the information used to put together a problem statement come
from?

7 a) The Design Stage g b) The Ideate Stage

? c¢) The Define stage : d) The testing stage

Z

%

g

4

4

?

47. MVP stands for,
a) Minimum Viable product b) Maximum Viable Product
¢) Most viable product ~d). None of these

48. Journey mapping is also called ; mapping. :
a) Path b) Experience ..~ ) Conductae, d) Feedback

49. Which of the following are NOT tools of Design Thinking?
a) Co-creation b) Prototyping ¢) Mind mapping d) Online marketing

50. A Prototype is a simple expérirh’ental model of a proposed solution used to,
a) Test ideas b) Validate ideas ¢) both d) None of these

¥ koK &
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First Semester B.E./B.Tech. Degree Examination, Jan./Feb. 2023
Innovation & Design Thinking

Time: 1 hr.] [Max. Marks: 50
INSTRUCTIONS FTO THE CANDIDATES

1. Answer all the fifty questions, each question carries one mark.

2. Use only Black ball point pen for writing / darkening the circles.

3.  For each question, aftel‘ 'selecting your answer; darken the appropriate circle
corresponding to the same question number on the OMR sheet.

4. Darkening two c1rcles for the same questxon makes the answer invalid.

o8 Damagmg/overwntmg, using whiteners on the OMR sheets are strictly

prohlblted ; P
1. Design thinking Approach leads: tq E oy
a) Technology centric desxons i b) Marketing centric designs

c) People centric desxgns d) All of the above

2. Design-Impacts the busmess By,
a) True it T b)Fa]se .~ &

3. Empathyis- S -
a) to understand people and the conteagts of their use of a product
b) to know the way the product \ works
c) to mmgui’e people’s behawor m dlfferent contexts

d) None. of these i
4. Desxgn thmkmg encompasses - oy S
a)“Des:rabxhty . X B) Feasibility
a2 c) Viability = d) All of these
5. Which one of 1he followmg is not the mmdset of a design thinker?
a) Quick desxgn 5:-."'7“" b) Prototype refinement
¢) Coding ' o d) Engineer product
6. Which of the followmg 18 nof the mindset of a Design Thinker?
a) Make it il b) Learn from Failure
¢) Self oriented o d) Empathy
7.  Where does the iti'f_"i'):rmation for defining the problem in the define phase come from?
a) The Terting stage b) The prototype stage
c) The Ideate stage d) The Empathize stage
Sl
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Crafting a Point Of View (POV) requires three key elements including all of these Exc
which?
a) Design b) User c) Insight d) Need
Who is the recommended group that you should test out the prototypes with?
a) Your target customers b) Pcople in your team
¢) Professional designers d) Experts
Which is not one of the types of prototype of prototyping Mode 17
a) Horizontal prototype b) Vertical Prototype
¢) Diagonal prototype d) Domain prototype

What is design considerations are not linked with?
a) Products b) Services ¢) Business d) Computers

To Empathize, one has to,

a) Observe b) Engage c) Listeﬁ d) All of the above
story tellmg is the most compelling type of story,

a) Aural b) Visual ¢) Textual d) All of these

Design thinker in an organization are, -

a) People. b) Employees ¢) Managers d) All of these

Comprehenswe principle of Desrgn thinking does not mclude

a) Relationship b) Collaboratxon c) f“ommumcatlon d) Suppliers

In design, where does the mformation used to pnt together a problem statement come

from? . 1

a) The Design Stage f‘b) The Ideate Stage

c) The Define stage . ) The testmg stage

MVP stands for, ; % ' '

a) Minimum Viable product . b) Maxm:mm V:able Product

¢) Most v1able product i d) None of these

Journey mappmg is also called mappmg.
a) Path by Experlence 0 Conduct d) Feedback

Whlch of the following are NOT tools of Desngn Thinking?
a) Co-creation b) Prototypmg ~ ¢) Mind mapping d) Online marketing

A Prototype isa SImplc experimental model of a proposed solution used to,
a) Test ideas b) Validate ideas ¢) both d) None of these

Which of the following is the least true about open innovation?
a) It accelerates development process

b) It reduces cost of product development.

¢) It helps in creating product differentiation

d) It helps to beatacompetltlon

. ~ VersionD -2 of §
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People Centered Design methodology involves, :
a) A problem-solving approach for people that is linear and convergent.
b) A problem-solving approach which is abstract and Resultsin making people by

products.
¢) A problem solving
d) None of these

approach for people that both diyerges and converges.

User journey map helps you to,

a) Understand the touch point and pain paints of the user.
b) iterate, iterate, itcrate ,

¢) Identify the user’s credibility, expert ise and skills.

d) None of these

What is the role of the Define Stage of design thinking?
a) To define the parameters for a prototype. '
b) To define the audience; you’re trying to Reach.

¢) To define the problem that needs to be solved.!

d) To define all of the ideas for solving a problem.

What is a problem statement in design thinking?

a) A written expression of problems from the prototype.

b) A written‘expression of the problem to be solved.

¢) A written expression of problems:inside the group.

d) A written expression of problems with target market. L%

What purpose does Point Of Veiw (POV) serve in"design thinking? -
a) It serves as the guide for developing the prototype.
b) It illustrates what your-competitors are doing better.
¢) It is used in the testing phase for receiving feedback.
d) Tt provides focus for the design team’s brain storming.

In this Point dfi'{’\,/view (POV) sta(qfﬁeﬁfa which part is fcﬁ:aﬁsidered the insight? “Senior
adults with arthrit is need Easy-Open bottles because they struggle to open childproof
lids® ke

a) Because they struggle to open childproof lids.
b) Needeasy-open bottles. " o
¢) Senior citizens & 34

H B Vi

\d):",None ofthese . ¢ Loy

28. 'What is Point Of View (POV) in delsj‘gn‘th'i’nldng?

a) A Report from the design team about the product.

b) A Customer’s opinion about interactions with you brand.
c)A writteh'fsi,aiemem of a Customer’s problem of need.

d) The opinion of the manager about how to brain storm.

Where do the insights i Point Of View (POV) in design thinking come from?
a) Researching other products on the market.
b) Interviewing the general Public on Social media.
c) Synthesizing, the data that has been gathered
d) Developing ideas during brainstorming
e
Sl Version D — 3 of 5
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People centered Design is -
a) How the product behaves in the real context. :
b) How a product works on the outside where a pcrson comes in

to contact with it and has

A A4 A

\J

4

to use it.
c) All of the above
d) None of the above

31. What is the usual order of problem solving proeess?
a) Try, Reflect, Prepare, Define b) Prepare, Try Define, Rcﬂcct
¢) Try and Reflect " d) Define, Prepare, T ry, Reflect

_ 32. Reframing a Design Challenge - ¢
a) Changes the Conceptual view point to an individual perspectxve
b) Helps us comc up with the Right Problem to solve.
¢) Challenges us to design ta a marketing focus
d) None of these ‘ :
_33. Which of the followmg 18 truer>
a) By Empathlzmg one can define a Problem Well Conceive a creative solution

resulting in break through innovation.
b) Empathy makes you a better human, but ‘innovation requires out of the box thinking

d) You become an innovator by Questlomng the status Quu

and not Empathy
¢) Inventions are sudden Eureka moments and 1s not really part of the long-term

Reésearch or Exploration.

44444

34. Malini is in the Ideate pha_se ‘What is her goal?: "; -
a) To Come up with one.ortwo great ideas . i
b) To come up with us many ideas as poss'b : good and bad o
¢) To test his best idea. Y
d) To figure out whlch problem he’s ngg 0 solve @
35. During Wthh stage would you start lookmg tor%a altematlve ways of viewing the
problem. <. i B
a) Prototype b) DeﬁnQ c) Id ate d) Empathize
- 36. Design Thmkers create low-f dehty prototypes o :

‘) Test concepts qulckly and cheaply wnh potentxa] users.

P byValldate concepts for the market.

37,

'¢) Build Productmn-Ready products.
d) Estimate the pnc‘e of producnom

Which of t!m followmg well known consultmg firms are offering Design Thinking as a
solution?  ~
A

a) McKinsey & Co. £ b) BCG
¢) Bain & Co. 4 ,i;.' ] d) All of above
38. Design Thinking 1ssorhet1mes visualized as a linear process, but it is actually :
a) Impactful *" » b) Incapacitating ¢) Intentional d) Iterative
P l"‘i_ )_? & : 7 :
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. 39. Which of the following is NOT part of the idea-selection process in DT? '

a) Grouping Related concepts together b) Identifying selection criteria

¢) Deliberating d) Prototyping
. 40. Robert researches statistics about the average age of school dropouts. Which stage is he

in?

a) Empathize b) Define problem statement

¢) Ideate «d) Prototype

41.  What is your First model/design of a product called? _ '
a) Drafl b) Rough Drafl c¢) Prototype d) Practice Design

42. The final step in the Design processis to ‘ '
a) Test b) Dd'mc ' ¢) ldeate d) Empathize

- 43. was IDEO’s first expression of design thinking. ‘
a) Deep-Design b) Deep Dive ¢) Deep-Structure d) Study-Dive

- 44. Frank Robinson defined and coined the term. '
a) Design thinking b) Mind mapping £¢) MVP d) Hypothesis

45. Which of the below is incorrect?
a) Peprico has turned Design Thinking mto its strategy.
b) Air BnB avoided bankruptcy and turned profitable uemg Design Thinking
c) Google has a 3 step process to. brmg about new mnovatlon
d) All of the above are correct ‘ !

- 46. At what step do you want: fo complete the POV—Pomt Of View? '
a) Empathy bj- Prototype C), Define - d) Ideate

- 47. The initial design btief iS provided by, :
a) Designer “* b) User #. = c) Bothof them d) Client

- 48. What Element of user Expenence De31gn would the design strategy fall under,
a) Interaction Design T TN b) Expenence strategy
c) User Research ¢ d) Intormatlon Architecture

- 49. When testmg a new prototype how many people do you need to interview per Persona to

detect the main usability issues? 8
+2) The more Persona the better “.% b) 20 Persons per Persona
‘¢) 10 Persons pe(’PerSOna g d) Five Persons per Persona

- 50. Readiness of’ the organization for strategxc innovation means,
a) Changing innovation process in the organization
b) Ready for the change in the organization
¢) Ready for change in the' capabilities of the organization
d) All of the above ..."
LB I
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\ ‘ ' [ ’ r ansﬂc{n Paper Version : A

First Semester B.E./B.Tech. Degree Examination, Jan./Feb. 2023
Balake Kannada

[Max. Marks: 50
INSTRUCTIONS TO THE CANDIDATES

Answer all the fifty questions, each question carries one mark.

Use only Black ball point pen for writing / darkening the circles.

For each question, after selecting your answer, darken the appropriate circle
corresponding to the same question number on the OMR sheet.

Darkening two circles for the same question makes the answer invalid.

Damaging/overwriting, using whiteners on the OMR sheets are strictly

prohibited.

Which of the following are the hints for correct and polite conversation?
a) pronounce the words propetly b) use plural forms to address others
¢) use simple sentences for conversation d) All of these

Fill in the blank by translating the given English word to Kannada.

We : :
a) NaaVu et b) Namage

¢) Namma = d) Nimage -

She :*

a) Necnu b) Avanu

¢) Naanu d) Avalu

This :

a) Adu b) Alli

¢) Idu d)Both a and b
Yaéru SN ;

a) where b) who

¢) what d) when

Complete the following:
Naanu : Nanna ; Neenu :

a) Avala ; b) Ninna
c) Avana d) Avara

Version A - 1 of 5









30.

-
—

32.

33.

34.

35,

36.

37.

38.

39.

40.

41.

BKBKK107

“Arogya” means

a) Shelter b) House

¢) Wealth d) Health

“Shubhodaya” means

a) Good moming b) Good night

¢) Have a nice day d) Good cvening

“Good night” means

a) Shubha Raatri b) Danyavadagalu

¢) Kshamisi d) None ofthese

“Ishta Illa™ means

a) I will notdo b) [ don’t like

¢) Both a and b are correct d) [ will do

Note : Choose the appropriate answer (Q.No. 34 to Q.No. 36)

Hogu : Hogona :: Ba:

a) Baralla b) Barona -

¢) Hodanu : d) Bandanu

Kalegu + inda : Kalegininda :: Mane + inda : :

a) Maneyalli b) Manege

¢) Maneyinda % d) Maneyannu

Kudi : Kudiyiri :: Haaki : v tis 8

a) Haakona 5 b) Beku

¢) Hakuvudilla = = - d) Haakiri

“Naanu collegige hogutiddenc”. Change this to simple past.

a) Naanu collegige Barolla b) Naanu collegige hogalla
¢) Namma collegige Raje Ide d) Naanu collegige Hogidde
Had vour breakfast? Choose :fhe correct answer in Kannada.

a) Aitu b) Beda
‘c)Both a and b _ d) None of these

Write the English word for the given Kannada word

Tale : ing?
a) Neck : b) Head
c)Leg ; d) Hand
Kaalu Ay
a) neck _ b) Hand
c) Leg Ay "‘ d) Head
G,
Tarakaari
a) Vegetable - b) Fruit
c) Banana d) Milk
o Version A - 4 of§
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' ‘ Question Paper Version : B

First Semester B.E./B.Tech. Degree Examination, Jan./Feb. 2023

Balake Kannada

Time: 1 hr.] [Max. Marks: 50
INSTRUCTIONS TO THE CANDIDATES
1. Answer all the fifty questions, each question carries one mark.
2. Use only Black ball point pen for writing / darkening the circles.
3. For each question, after selecting your answer, darken the appropriate circle
corresponding to the same question number on the OMR sheet.
" 4. Darkening two circles for the same question makes the answer invalid.
5. Damaging/overwriting, using whiteners on the OMR sheets are strictly
prohibited.
Note : Choose the correct word to complete the sentence.
1. Ivaru Nanna S
a) Doddadu - b) Sari Ide
¢) Chikkadu . wDTande
2. Nanna Bengaluru. g
_—ayooru G T b) Kaalu
c)ishta . dhaday d) Nagu
3. Nanage Kannada ¢
a) Red - lampu _ by Gottu - ko
¢) Blue _neeli : d) Green — haiin
4. Neenu Baa e
a) Anna - € brcklee : b) Akka — Sk,
_eyBega . quick 3 d) Tande — F abtec
Note : Write Kannada word for the given English word.
5. Holiday
a) Health — A b) Festival — Hebba
¢) Celeberations »- ch - _—dyRaje
6. Song
a) Kadime - e Lers b) Nrutya -~ Dauce
c) Vignana - Scioue _~dyHaadu .
c(\i:} 5
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What : Enu ; Where : A
y b) Hege
C) Eeke d) Y aaru

The meaning of Vidyarthi in English
a) School - <haale b) College - ,/mu La?&(

¢) Teacher - ‘RQL\%,,,\( 4 /.UQ D“a"f"ﬂ ! ~d) Student

44. Choose the correct Kannada Translation of
“Nimma Hesaru cenu?” ;
a) What is your age? 1) What is your name?
¢) What are you doing? d) What is the college name?
45. “Prarthana’s book is Blue”, Pusthakada Banna Yaavudu?
a) Kappu _Tlack b) Bili - LSS
__—<)Neeli d) Hasiru — ?)\DV\
Fill in the blank by translating the given English word to Kannada,
46. We:
_—ayNaaVu b) Namage — ‘2
¢) Namma _g g d) Nimage
47. She:
a) Neenu b) Avanu
¢) Naanu ~—dyAvalu
48. This:
a) Adu _pl B Alli e
/i Idu ' : d)Both a and b
49, Yaaru: s
a) where — e UL _ ywho
¢) what — enu : d) when — ‘/&Vﬂf
50. Which of the following are the hints for correct and polite conversation?
a) pronounce the words properly b) use plural forms to address others
¢) use simple sentences for conversation ~dy All of these
% k 3k k Xk
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